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Long Multiplication and Division Problems.

Bottles of Lemonade are 64 p each. John needs 18 for a party. How much does he spend ?

There are 864 pupils and staff in a school. They all go to visit London on a school trip.
How many 36 seat coaches do they need to hire ?

Drawing pins come in boxes of 48. The Mathematics Department orders 17 boxes, how
many drawing pins have they ordered ?

A train carriage can hold 118 people. If a train has 14 carriages, how many people can it
transport ?

A roadside florist sells only tulips. They cost 32p each. He takes £ 8.96 at the end of the
day. How many tulips has he sold ?

Mandy the model maker is building a tank out of matches. Matches come in boxes of 52.
She works out she needs 832 matches. How many boxes does she need to buy ?

Bobby thinks there is a Salad Cream shortage and goes shopping. Salad Cream comes in
bottles weighing 285 g. He buys 42. How heavy is all the Salad Cream in grams ?

Jenny has a catering pack of tomato ketchup. It has 882 ml in it. Her job is to put it into
tiny 18 ml sachets. How many sachets can she fill ?

Milk is carried in crates which hold 24 bottles. A milk man sets off on his round with 142
full crates, all for delivery. How many bottles of milk is he delivering ?

Gemma is holding a Garden Party. She needs 6149 biscuits. A packet holds 43 biscuits.
a). How many packets must she buy ?
b).  One packet costs 97p. How much is she going to spend on biscuits ?
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11). Laura holds a raffle to raise money for local charities. She sells 36 tickets at £ 4.75 each.
a). How much does she raise ?
b). The money is to be shared equally between 25 charities. How much will each get ?

12). The new intake in a large school is 468. They are to be put into classes of 26 pupils each.
a). How many classes are there to be ?
b).  Each pupil from the new intake pays 54p towards the School Fund.
How much will the new intake contribute to the School Fund ?

13). The 36 workers from a chocolate factory go on a staff outing. The owner gives them 972
bars of chocolate for the journey.
a). How many bars of chocolate do they get each ?
b).  Unfortunately it is a bumpy journey and everyone is sick! The coach driver charges
them £ 88.20 to clear up the mess. How much do they each have to pay ? {(

14). A train holds 342 people. Each person paid £37 for a ticket.
a).  How much was paid in total for the tickets?
b). The train company works out that on average each customer pays 87p for food from
the Buffet Trolley. How much would the Buffet Trolley take on this journey ?
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